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. ldentify the lines that are perpendicular A i’ I }
Identify the lines that are paraltel A 4 §i¢ .

1 1
A) y=2x+3 B)y-4=5(x+5) Cly=2x D)y+1=-5(x+7)

2. Find the slope of each line. Thenldetermine if the lines are parallel, perpendicular or neither.

Line 1: (2,13), (-1, 4), slope = - :3: Line 2: (3,-1), {4, -4}, slope =~ 5
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Parallel, perpendicular, o

3. Find the slope of each line. Determine if the lines are parallel, perpendicular, or neither and
explain your answer.

1 1
Linel: y= B X+2 Line 2: y— = 2(x+1) Parallel/Perpendicular
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4. Find the slopes of lines 1, 2, and 3. Then determine which lines are parallel or perpendicular to
each other and explain your answer.

Line 1: (2, 3)(0, 2) Line2:y=-§x+4 Line3:y+5=§(x— 4)
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slope: _——a_.. slope: _;2
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5. Determine the equation of the line that is parallel to the liney = SX- 3 and passes through (-2, 4}

B ]

in slope-intercept and point-slope form. e N
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6. Determine the equation of the line that is perpendicular to the line y = 3x + 5 and passes through
. i . ———= |
(6, 4) in slope-intercept and point-slope form. - —
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7. Give an equation of a line in slope-intercept form that is parallel toy = 4x+ 3 }f'—' 4)‘ - [&
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Give an equation of a line in slope-intercept form that is parallel to y =- i 1 N =
!

If all 4 of the lines were graphed on the same coordinate plane, would they form a rectangle?

Why or why not? Ves: @ A P o= OPPOSITE SIDES
ARE PARALLEL, AND:
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